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#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR A T &5 DBRB=E| K &&t = A
1 |deiEE 4.6E+1 46.0 46.0
2 |[EHRE 2.6E+2 260.0 260.0
3 |AFE
4 |EHE 3.1E+0 3.1 3.1
5 (AR
6 IR
7 |fRBE 7.0E-1 0.7 1.5E+3 1,505.9 1,506.6
8 |ZWE 49E+2| 6.0E+1 553.4 1.2E+2| 55E+2 672.0 1,225.4
9 |HAE 2.7E+1 27.3 2.3E+0| 7.3E+0 9.6 36.9
10 |HBER
1 [BEE 9.8E+1 98.0 1.7E+2 1718 269.8
12 |TER 2.7E+3 2,678.6 2.2E+4 22,050.9 24,7295
13 |HREER
14 |[#E)E 7.0E+3 7,021.0 4.8E+4 47,7130 54,734.0
15 |FriRE
16 |[EWE 1.2E+2| 5.0E-1 120.1 3.0E+2 300.0 420.1
17 |RINE 3.2E+1 320 1.8E+1 17.8 49.8
18 |f&@HE 6.1E+0| 4.7E+0 10.8 4.0E+2 401.9 412.7
19 [ILEE
20 |RHE
21 |IKEBR 7.1E+ 70.8 6.4E+0| 2.8E+2 281.4 352.2
22 |E&mER 2.2E+1 22.0 22.0
23 |BHE 1.8E+2| 2.2E+0 180.8 5.7E+3 5,680.2 5,861.0
24 |ZER 3.7E+2 366.0 1.5E+3 1,517.0 1,883.0
25 |HER 1.7E+2 1735 30E-1| 1.2E+2 1241 297.6
26 |REAT 9.4E+1 93.7 1.0E-1| 1.0E+1 10.1 103.8
27 | KBRAF 3.1E+2 311.3 6.0E-1| 1.6E+2 164.7 476.0
28 |EER 4.3E+2 4255 5.0E+1 50.1 475.6
29 |ZRER 4.0E-1 0.4 40E-1| 4.0E-1 038 1.2
30 |FIFRLE
31 |BHRE
32 |BRE
33 |EWLE 2.2E+2 219.0 219.0
34 |[LER 5.6E+2| 4.2E+2 980.0 7.3E+0 7.3 987.3
35 |lLOR
36 |EER
37 |BNR
38 |BER 1.1E+3 1,100.0 1,100.0
39 |EER
40 |fEREE
41 [EER
2 |RIBER
43 |RERR
4 | KRR 8.1E+1| 9.0E-1 81.9 3.5E+2 350.0 431.9
45 |FIFER
46 |EEER
47 |[HiER
£ E 1.3E+4| 1.6E+3 14,569.9 1.3E+2| 8.1E+4 81,334.6 95,904.5
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